GEOMETRY 21 MID-TERM EXAM REVIEW

. Name: p(N S\ XYI'/QS Period: M‘{

note to student: This packet should be used as practice for the Geometry 21 midterm exam, This should notbe the
only tool that you use to prepare yourself for the exam. You must go through your notes, re-do homework
problems, class work problems, formative assessment problems, and questions from your tests and quizzes
throughout the year thus far. The sections from the baok that are covered on the midterm exam are:

Chapter 1 ]
1-1 Visualizing Geometry
1-2 Points, Lines, and Planes
1-3 Measuring Segments
1-4 Measuring Angles
1-5 Angle pairs
1-6 Basic Constructions
Chapter 2
2-2 Conditional Statements
2-3 Biconditionals and Definitions
2-4 Deductive Reasoning
2.5 Reflexive, symmetric, etc
2-6 Proving Angles Congruent
Chapter 3
3-1 Lines and Angles
3-2 Properties of Parallel Lines
3-3 Proving Lines Parallel
3-4 Paraliel and Perpendicular Lines
3-5 Parallel Lines and Triangles |
3-6 . | Constructing Parallel and Perpendicular
Lines ]
Chapter 4
4-1 Define congruent figures

4-2 Triangle Congruence by 5SS and SAS
4-3 Triangle Congruence by ASA and AAS

4-4 Using Corresponding Parts of Congruent
Triangles

4-5 Isosceles and Equilateral Triangles

4-6 Congruence in Right Triangles

4-7 Congruence in Overlapping Triangles
Chapter 5. .

5-1 Midsegments of Triangles

5-2 Perpendicular and Angle Bisectors

5-3 Bisectors in Trlangles

5-4 Medians and Altitudes

5-5 Indirect proofs
5-6 Inequalities fn one triangle
Chapter 6
6-1 The Polygon-Angle Sum Theorems
6-2 Properties of Parallelograms
6-3 Proving that a Quadrilateral s a
Parallelogram

GOOD LUCK!




Suppose |is between H and K. Use the segment Addition Postuiate to solve for the given variable and find
the length of each segment,
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Let @ be in the interior of ziP{g)R. Use the Angle Ed‘dit on Postulate to solve for x, Find the measure of each
angle. Q@ X
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7. MO bisects ALMN. If mziLMO (%% 4 4x — 5)° and m4LMN = (9x + 5)°, solve for x and find mNMO.
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8. Through any two points there is exactly one l (g
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9. The Intersection point of the perpendicular bisectors of a triangle is the center of the __ CA¢C CUMSCAT loe (ﬂ
circle of the triangle,

For questions 10 and 11, refer to the figure at the right.
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10, BBisa_ (AU of AABC
———— E

11, AD is an altitude of AABC, b

A F )
12. Find the value of x if AD is an altitude of AABC. p
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Find the value(s) of the variable(s).
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and complementary to £ C.

In Exercises 19 and 20, assime that £ A1s supplementary to £
Determine ma 4, m4 B, and m4C.
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Find the values of the variables,
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Write the conditional and converse of the statement, and determine if the converse is true, Ifitis not,
write a counterexamnple.

23. Ifan angle measure is 32 degrees, then it is an acute angle.
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I'ind the measure of all labeled angles in the diagram.
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Find the value of x and y.
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Solve for the given variable and find the angle measures,
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Name which trlangle congruence theorem or postulate yt% d use to prove the triangles congruent,
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Write a two-column proof for each of the following.
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45.  Given: [||m
Prove: Z1 and £2 are supplementary
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46. What is being constructed in the figure to the right?

T
Perpendicular bisector
b} Parallel lines ,
¢) Chcle
d) Copy of an angle

-
*

h

ot -
vomplete, Refer to the fignre at the vight, c
47, a)EBisa__ (MO oraapc
P E
b) BD is an altitude of AABC, b
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48, Find the value of x if AD is an altitude of AABC. ¢
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49. YV 'is an angle bisector of AXYZ, Determine mAZYV and maXYZif m4XYZ = 8x — 6 and m4XYV=2x 7.
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Solve for x,
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55, According to the diagram, what are the lengths of PQ and P§ ?
a.) How is PR related to £ZSPQ? én &\Q ise chuC
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c.) Find m£SPR and mZQPR.
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Use the diagram shown and the given information to name each line or segment as the altitude, median,

angle bisector, or perpendicular bisector of a triangle,
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Find the possible measures for XY in AXYZ,

57.%Z=6and Y7 =56

RS LYW

; <), List the 6 properties of paralielograms.
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In parallelogram ABCD, m#DAB = 11x - 1, m4ABC = 2(7x + 2), m4CDB = 6x + 1, m4DCA = 5x — 1. Find the

following measures. %c
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67. Find the measure of 4RST given RX |] TY, m4SRX = 120°, m4STY = 160°
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68. Find mAUVW given TU )| XW. 69. Solve for x and y. FI || GH.
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72, Construct the angle bisectors of the triangle below. The intersection of these angle bisectors s called the
\ Q(‘ﬁ\%‘( and is the center of the WNWSen be circle, (sketch the circle)

73. Construct the perpendicular bisectors

ters;[;tion of these perpendicular bisectors
is called the _ (QrCumtanke  and

Ye circle, (sketch the circle)

. Construct the medians of the triangie to the right.

The intersection of these .
medians s calied the C,Q(\SMS\(Q.J

75, Construct the altitudes of the triangle to the right.

The intersection of these

altitudes is called the ___ 0¥-0 Lande”
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78. Solve for the missing variable(s),
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In the figure to the right, BC ”FI, CJ IIEH’ . Decide whether the following pairs of angles are congruent, If
yes, state the postulate or theorem to support your answer. If no, explain why not. (4 pts each)
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Given the following relationships and using the figure above, which lines (if any) can be proven parallel?
Give the postulate or theorem to support your answer. (4 pts each)
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9. Find the measures of each of the numbered angles in the figure below. (7 pt each)
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36) Given the point and its image, determine the scale factor.

a) A(3,6) A’(a.5,9) b) G'(3,6) G(1.5,3) ¢) B(2,5) B'(1,2.5)
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37) The sides of one right triangle are 6, 8, and 10. The sides of another right triangle are 10, 24, and 26.
Determine if the triangles the second one is a dilation of the first. If so, what is the scale factor?
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38) Ccircle the transformation that matches the rule.

a) G (x,y) -—--------- >(-y,x) Reﬂection@ Tranglation Dilation
e R P— >(x+2,y+10)  Reflection Rotation (Translation> Dilation
c) F (x,y) --------—- > (-X, -¥) Reflection (Igowtgltiog' Translation Dilation

BN O e — > (3x,3y) ReﬂectionW Translation @

39) Mia is able to move triangle A to triangle A’ using the flowing sequence of basic transformations:
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3. Translation two units to the right £ Steet w]@ (o) Arvasioke g?é\_) 9 (9)
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Brittany claims that the same three transformations, done in any order, will always produce the )
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40, Find the measure of angle ABC. (4 points)
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42. Can the following be the side lengths of a triangle?
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43. Explain the difference between parallel, intersecting, and skew lines. . )
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